—
<
i

cdot m "W [1/GeV?]
H
o

T

dLO-IIU
P

1
d3d
S

1077

[EEY

Ratio to ATLAS

0.5

13000 GeV pp tt
| T I T I T I T I | I I T I | 9
— — %
~ pﬁbar (ATLAS ttbar) >
B 1=
- m ATLAS _ g
— —&— Pythia 8.308 default akl
— Pythia 8.308 tune-1 - 52!
Pythia 8.308 tune-2c¢ ;
— Pythia 8.308 tune-2m —
— . 0=
L ) \ o
i " |
B 1 ©
o™
<
o™
| —©
_ —1O
— 1™
—i
B 1=
- 1%
T,
B N N
— e
Q
— 1w,
~ 10
| — O
- — O
n | | | | | | , | I =
:| T T T [ T T T |:
= 42
AA 1
B —0.5
| 1 1 1 " | " 1 1 " 1 " |
0 500 1000



	Contents
	Page 1


